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BACHELOR’S DEGREE PROGRAMME

Term-End Examination
December, 2014

ELECTIVE COURSE : COMMERCE
ECO-10 : ELEMENTS OF COSTING

Time : 2 hours Maximum Marks : 50
(Weightage 70%)

Note : Attempt any two questions from section - A and
any two questions from section - B.

SECTION - A

1. Define ‘Cost Accounting’. State the various 3,7
limitations of financial accounting that gave rise
to the need for cost accounting,.

2.  (a) Explain ABC analysis for inventory control 5, 5
with the help of suitable examples.

(b) State the advantages or disadvantages of
time wage system.

3. Write short notes on any two of the following: 5 5
(@) LIFO method of pricing issue of materials
(b) Behaviour-wise classification of overheads
(¢)  Economic Order Quantity
(

d) Fringe benefits and their treatment in cost
accounts
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SECTION - B
4.  The following are the particulars relating to a 10, 5
contract which began on 15t January 2011 at a
contract price of Rs. 50,00,000. The accounting
year ended on 315t December 2011.

Particulars Rs.
Machinery 3,00,000
Materials 17,06,000
Wages paid 14,80,000
Direct Expenses 63,300
Outstanding wages 53,800
Uncertified work 90,000
Over heads 82,400
Materials returned to stores 16,000
Materials in hand (31-12-2011) 37,000
Machinery on hand (31-12-2011) | 2,20,000
Work certified 39,00,000
Cash received 35,10,000

Prepare Contract Account for the period ended
318t December 2011 showing the account of profit
that may be taken to the credit of Profits and Loss
Account of the year. Also show the account of
work-in-progress as it would appear in the
balance sheet of the year.

5. In a factory the product passes through two 15
processes A and B. A loss of 5% is allowed in
process A and 2% in process B, nothing being
realised by disposal of the wastage.

During April, 2012, 10,000 units of material
costing Rs. 60 per unit were introduced in process
A. The other costs were as follows :
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Process A | Process B

Rs. Rs.
Other materials 61,400
Labour 1,00,000 60,000
Overheads 60,000 46,000

The output was 9,300 units from process A. 9,200
units were produced from process B which were
transferred to the warehouse. 8,000 units of the
finished product were sold at Rs. 150 per unit,
the selling and distribution expenses were Rs. 20
per unit.

Prepare the Process Accounts and a statement of
profit and loss of the firm for April 2012 assuming

there were no opening stocks of any type.

6. (a)
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From the following invoice received froma 9,6
supplier, prepare a statement showing the
material cost per unit :
. . Rate |Amount
Quantity Materials Rs. Rs.
250 kgs P 100 25,000
150 kgs Q 120 18,000
43,000
Less Trade Discount - 1,290
41,710
Add:
Cost of containers 460
Cartage and freight 2,000
Octroi Duty 430
44,600
3 P.T.O.



ECO-10

Capacity of each container is 50 kgs.
Containers will be returned at a value of
Rs. 27.50 each.

Explain the main features of Taylor’s
Differential Piece Rate System of wage
payment.
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3. Frefafad # 4 el @ R wfe feofort fafae ;5,5
(a) MRt frmE & qog fuRe ) sifam swra
wgat fRfa (LIFO) wsfa
(b) IR 1 S & STTIAR TR0
(c) omfeleh MW WL (EOQ)
(d) 3TIATH T TN Gl H ITh] @i

g - g
4. 1 e, 2011 ® YRY gL TH Sk § AT =AW
frefafad §1 39 391 99 50,00,000%. § | <@y

31 fegar, 2011 =1 FATG g3 10, 5
faawur B,
e 3,00,000
g 17,06,000
HSIGY (M i ) 14,80,000
JI& A 63,300
T HSIGH 53,800
STy 90,000
YR 82,400
Wi I 99 H T G 16,000
T JEIT (31-12-2011) 37,000
=T YA (31-12-2011) 2,20,000
YA 39,00,000
T g Wi 35,10,000
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31 fegar, 2011 * 991 1 At oY & foAu e
g Y Sed oY w1 a8 ufw t feese 9
-1 @ | sfafd fea s 81 ad % germ-uw
(balance sheet) B FHIOTEH %1 (work- in -progress)
+1 Ufy 3faa =9 o fe@msu

T Haed AR T YhAS A T B H W & 918
R B &1 wimar A ° 5% awm wfwEm B H 2%
= B et € Fraet W 8 3 99t Tl et

318, 2012 % 3R 60 F. 9T THTE T MG W Fed
AT =1 10,000 $FEA W TfhaT A § FE IE 3|
= ard f=fafag o .

ufewar A | uferam B

B, s,
3T |t 61,400
9 1,00,000/ 60,000
ERitEep| 60,000 46,000

i AR 9,300 THIEA 1 IS g7 | ik BH
9,200 THIEA T I g3 = 7w H gwaiaia
T T a1 3ifqm FAR 9 w1 8,000 3HEA 150 .
gfd s & feae @ o=t T f59 W 20 T 9fq 367
fawma 9 famm =@ @4 fow U

yfswar @ sy, qun e 2012 & fou wd &
Y-8 1 Tk forawor Jar wifsw| 98 99 «ifee
o ford) g 1 & ot RIS =ik T8 a1l

15
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6. (a) TH TwrR ¥ g fr=fafaa stee & o Eam 9, 6
R Yfd 3R HI ARG S Y TH faam

REREEAELY,
Ly 9T
T E:iteci)
w. T,
250 fHamm P 100 25,000
150 fretmm Q 120 18,000
43,000
FIET : ANE FE - 1,290
41,710
S SIS
e 460
HET 1 AT
T8 2,000
EURIEY 430
44,600

Tdh HeR H 50 Tt 9l ot 31 3
FHIR 27.50 B 9fd HeR & femme 4 =nfog
forg v ¥ |

(b) WG YT H TeR wi faugw FETIR
T5id 1 qeA Tt 1 Seer@ hiferd |
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